ryz BRI 4 £ A0, 3, 2), B(=3, 4, 0), C(3, 1, 0), D(—1, 2, 1) B’H 5. 2 5%
A, D 2BAEMRE vy FHOKEE E LT52E, ROMWIZEZ L.

(1) s E OPEfE% Rk K.

(2) sin ZBCE DfE% K XK.

(3) =¥ BCE OmEfE% KD X.
(4) MUE{A ABCD OFE% Ko X.
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(1) E(-2, 1, 0)

(2) sin/BCE = %
15

G 5
5

4 5
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(1) E IXEH AD LOHTHENS, £t 2HNT
OF = OX + tAD
=(0, 3, 2) +t(—1, —1, —1)
CRTIENTES. Eld oy PHEDHTEDHZH5, 2K01E0THY
2-t=0 Sot=2
£oT

OE=(0, 3, 2) +2(—1, —1, —1)= (-2, 1, 0)
THYH, WE OEZEIX
E(-2,1,0 e (%)
TH%. .
(2) CB= (-6, 3, 0), CE= (=5, 0, 0) & ¥

cos/BCE— CB-CE _ 304040 _ 30 _ 2

ICB|ICE| v36+9+0x5 3/6x5 5

THENS
2
- i (2 _ 1L _~ e
sin ZBCE =4/ 1 (\/5) _\/5_ 5 (%)
Th5b.
(3) ABCE Dif S I
S:r%@ﬂ@@bméBUL:%x3¢5x5x1§<:%; ------ (%)

TH5.



(4) (1) 75, AE = 2AD, $74bb5 DIt AE
DOHRETHS. ¥z, 3/ B, C, Eldzy F
mEZhHdI s

(WK ABCD D{kR)
= L« (Wiitk ABCE o)

2
%x(%xSxM(DzﬁEh\I)
SN
5
2
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